CT4-3. A rifle is accurately aimed at a rabid monkey hanging from the branch of a tree.  The instant the gun is fired, the monkey releases the branch and starts falling.  The monkey is well within the range of the rifle. The initial speed of the bullet is vo.  What happens?

[image: image1.wmf]t

v

r

r

o

o

r

r

r

+

=


Blue:  Bullet finds its target, regardless of the value of vo. (Assuming vo still large enough to reach the air below the monkey.)

Yellow: Bullet hits monkey only if vo is large enough.

Green:  Bullet misses.

Answer: The bullets hits the monkey always, just so long as vo is large enough to reach the air space below the 

monkey. See lecture notes 4-4, 4-5.

CT4-4. A hunter shoots a monkey in inter-galactic space (where there is no gravity). The bullet flies in a straight line and hits the monkey.  The path of the bullet is described by the vector equation
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 (diagram below).
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When the time t is such that the bullet is half-way to the monkey, the vector 
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is which vector on the diagram?

Answer: The Yellow is 
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CT4-5

A particle is moving along the path shown, with constant speed. It's velocity vector at two different times is shown.  What is the direction of the acceleration when the particle is at point A?
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Purple: the acceleration is zero.

 

: The direction of the acceleration is toward the center of the circle (blue).  Recall that 
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Purple: the acceleration is zero.
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